eJdsule

Jeed 4 Bbog:
sdw lJbos: 35-45 53596
sdw lJoow,sa: 1-2 ywles.

4 lesls po euwes 1olsws: peowsds spdJes sedloes |s oot
3 dlw po e ldjvtwsd Bs vulo spdges wldlpelus [Js
wlle pdled wwtsss vwle po ldws

225 pJ (8 lsds6 pwliss) po lUsewd J)spb

1 8,0 Slosdsl swe gude wldbsd sleile 1dwss,

L pdeds votsub e 2353 1J58.

1 pdeds po v, [JIpwe )

3 p0 b ldoswe

IJlogloles

TJdss LesWIss TSI wpet ol vsu whws |U)lsus gdlpwe o IJlosdl U ses
eds 1Je3ls. toosel et Jlow eo 1Juils It sloveeees! wesld Ilsos IJboses.

1- Jlesh Idlsws: swe gppte S lols Jos, et ldvewsd slduvlo: sswe wibss
Ilols 25l obbls e supto B 1JB,0 Tens souet £Js ol obiss Jpss 15-20
39538 s [ds 1o st 1Wllsos bslsddo Js

o powslt

2- oldopwes JdIuwe o sggee S luls s wp swp et 1, sps Jotds pe
gy ldulosds! sduo lJslosdsl wp sop ool po eds 1Job.



3- swpe tdb 2369 1Jss slduwd, sueidl) Idosue pel Bs luls tos spewt IJedshb
wdovl @ swe o Iddoses Iduwlzos po edld potd eds edsb il ldosue s
IUlols. ep lelss 1e sl olddled 1Js 1ol Iupts, &p o> 309 sop supto s
lJo,0 Jsouwer eds ol obss: e ldoddso wluvee b tos svewt dsleo pwesdlT
wgd 3Jd swe powo Vgl s Idsels JIs soo.

4- swp te ot 1lsos po Ted 15t sldisvs pe ouuw Idolds. swp tdlb 0uew
ol ldejst wlJIdpwe,d we swp ldE,0 oldededs Jbodle po tdsl [Jdywe )
sldolsos Iptess 1deessow S Loes Jssow JJodsse: et lowdl sslele oo 10)ls0)
sldIpwe . we swe wydo Jswud Bdsdlwe swe wdrseo pe svee |lsvs Ietes)
eds lduwbr Jdieuose.



